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THAT YR UA
H&ET—8
fawg — wfora
HAY — 230 €U quries — 80
adenfof 2q Frder —
&S ye (1-6)
Yeg—1. H&T —13 BT o gfrad g — 1
Multiplicative inverse of number -13 is
1
(1) o (@) 1 @ — @B ()
YeI—2 GEIT 9 Pl U9 HGT R — 1
Cube number of number 9 is
(@1) 27 (@) 81 (|) 343 (@) 729 ()
Gei—3 WHTRIRVT &1l S R I Fel A & — 1
( ) HAYTXEIXTHT (ET) HelIT%100
100 THIXI
AAUTXET HAUAXFHTX 100
(¥) FHATX100 S Sy )

Correct formula to find the simple interest is
A. Principal x Rate x Time
100
B. 100 x Principal
Time x Rate

C. Principal x Rate
Time x 100
D. Principal xTime x 100
Rate

Y4 5 Bl Tdh BT Hed U 240 7, Al 1 fHAM qadh &7 o B8R — 1
Price of 5 kg sugar is rupees 240 then Price of 1 kg sugar is?
(31) 48 (@) 20 (&) 100 (@) 240 ()

SR fRA&Teh T gt H=rst HiAT



g5 feferfad 4 @ w=ar feudly avs 8 2 1
Which of the following polynomial is bionomial?
(31) 4x? (@) 5-3xy (@) 2x+3y-5  (Q) 5x+2x ()

gei—6 aqydst @& 91 I PV & AIGl & INT BT B — 1
Sum of all interior angles of a quadrilateral is?
(3r) 90° (8) 180° () 360° (@) 540° ()

Jfdargaradts g (7—11)
Very short answer type questions (7 — 11)
Uei—7 98 W BIC] W& F1d SIfoTY T W1 200 BT 0N HIA Yo & Y & 9Q 2

Find the smallest number by which the number 200 is multiplied to obtain a perfect cube?

Ued—8 &Sid -4q Ud Tpq BT OGBS BRI — 2
Product of the polynomial - 4q and 7Pq is

Ye—9 el GHagYSl & US IRSHIV BT 719 45° 2, AT qorell @ ey g1 it 7 2

How many sides does a regular polygon have if each of its exterior angle is 45°?

gei—10 < g MG ABCD BT URHAMT 1 BT — 2
Find the perimeter of given figure ABCD

D C




gei—11 &) T8 AMHA H UF Tl ¥ (R) U<l B B G¥aar i1 HIRTT | 2
Find the probability of getting a red apple (R) in the given figure.

@ @ Green (G) — &XI
@ Red (R) — Tl

Short answer type questions (12 — 15)
PART - A (12 -15)
ge—12 f=falRad HeHl o1 gdx ¥ /0 # ¥ Sugad W Vv 3ifdhd Py —  4x1=4

Read the following statements and mark v’ on True / False appropriately

(i) =T 1354, 2 9 TSy 981 2| SRVACKR
Number 1354 is not divisible by 2. [True / False]
(i) =T 152875, 9 ¥ 95T 2 | e /3
Number 152875 is divisible by 9. [True / False]

(i) I ®I1S Hwear 2 den 3 | faifsra 8, @ ag b= 6 9 A1 fawifora 8t 21
/3y
If Any number is divisible by 2 and 3 then the number is divisible by 6. [True / False]
(iv) AT 6+X,9 BT VT 8, IfE X BT A 2 & | g /3
Number 6 + x is a multiple of 9, if value of x is 2. [True / False]

ge—13 QU U ys S & forg <1 gy Y M B | YA 39 P HId HW F g AR
qred Y Bl U R A fad T R @I R SR 9 W'/ URd g F |
Sugad fdmey forfiay | 4

Two views are given next to each solid figure shown below. Identify the “view from above” and

“side view” corresponding to each solid figure and write the same in the blank space provided
below.



Y—14 400 Ffdadl R fHu 70 Feb Gd & IR AR a9 B uterd F8) HRA dreli Bl
god o 4 gwfar war 21 gt o &1 ugaR He fiu v ywEl & SR i —
242=4

A 4

A road survey was conducted on 400 people who did not follow traffic rules that are shown in the

pie chart. Read the pie chart and answer of the following question



(1) Fe 31fe MR &HaT dTel 181 Bl del drel fdadi &1 UfTerd Sid ST |

What percentage of people drive vehicle that are overloaded.

(2) B¥ele w81 oe drel wfdadi @ den, ufq WA 9 if¥e wfa # dred g drel
fdadl | fba sifts =7
Find the difference of people who are without helmet by who are over speeding.

ge—15 Ueb IR agdsl ABCD faam 71 & | aR¥misi iR Turedi & SR 1R Read i
@1 qfd PifTe | 4x1=4

Given a parallelogram ABCD. Fill in the blanks on the basis of the defination and it's properties.
D C

A B
(i) AD= (BC/AB)

(i) 4£DCB= (4LBDA/£LBAD)
(i) OC= (OB/OA)

(iv) mZDAB+mZCDA = (180°/360°)




AUIRIHD Y
gus—9 (16—21)

Ye9—16 Udh IIHR & &1 &Fhel 2304 I 2| 59 IGR &7 Pl oIl o1 BG4

Area of square region is 2304 m”.Find the side of square region.

Ue—17 HTdie & A BT GIR Fd gU 1= BT A A1 BT | 2+2=4

Find the value of the following using Laws of exponents.
() (3°+4™+5")

20 s 2
i ) "+’

) o 2 3 . - L
ww—mwﬁmm;aw;%mm%wmaﬁﬁmawﬁm@w
g3t ST | 2+2=4

Find four rational numbers between 2/3 and 3/5 and represent them numbers on number line.

UT—19 M 7 10,000 HUI Bl 2 g4 P forw 10 ufderd &1 R R Apafg @™ B oed W
SYR forar| Ife g8 ¥4 WXl <191 W forar S @1 <M1 ol # fhaar S g1 4
Ram borrowed Rs 10,000 for 2 years at the rate of 10% compounded annually.If he could have

borrowed at Simple Interest rate then what will be difference in both interests.



gei—20 G WEIRI BT INT 95 2| A Ugell G&Al @ W& 9 15 e ®, df 9 Qi
1Rl BT AE S DI | 4
Sum of two numbers is 95. If first number is 15 more than the second number then find both the

numbers.

Uei—21 ATl W <1<l g31 b < IIadTd 1Al Pl UTel= dxad 8¢ 25 fAde # 14 B+ gefan
213 ¢F &1 98 a1l 2 I 5 99 § qF B T8 W G S — 4
A truck loaded with goods Travels 14 km in 25 minutes following the traffic rules. If the speed of
the truck remains the same how much distance will it cover in 5 hours ?

ISR {RA&7eh T gaT, HAroT HiAT



freaTaTe 9 (22—25)
Essay Type Questions (22-25)

Yed-22 9§45l ABCDEF &1 faf=1 9rli & dfer war & o fob srepfa d <wifar wan €, i

IS BT &FABA =T DI | 6
The Polygon ABCDEF is divided into different parts as shown in the figure then find the area of

Polygon.

JX Ans. —. . . . . . s

3erdr
Or



frferRad @1 ga $ifou— 3+3=6
Solve the following —

(A) U FHATHS &1 &F%e 240cm” & R sl # ¥ e @ o8 30 9 & | qEd
faeot sid SIRT | 3799 BT fawel «fde § den fhae «fde 8 Fa iy ?
The Area of a Rombus is 240 cm’and the length of one of its diagonal is 30 cm.Find the length of
the other diagonal. which diagonal is greater and How much.

(B) U U o9 &) Hatg S BT, RTIdT madq 1.54 m’® 3R R AR &1
140 cm B |
Find the height of the cylinder whose volume is 1.54 m” and diameter of the base is 140 cm.

ye—23 frfaiad el & qurEvs sIvg ([B=i a1 &) 3+3=6

Factorise the following expression.(Any two).
(i) 4p™-9q° (i) X*+8X+Xy+8y
(iii) X*+6X+8 (iv) a’-b*



Yei—24 IS ABCD &1 g1 BIfSTY S8l AB=5cm, BC=4.5cm, AD=6cm, 10T A= 90° AT B0l
B=105" 6
Construct a quadrilateral ABCD where AB = 5 cm, BC = 4.5 cm, AD= 6 cm angle A = 90°and
Angle B = 105°

S RG]
OR
Uh FHAGHS WXYZ @I a1 iy s [Jeof wy denm xz &1 gl s
5.2cm AT 6.4cm B |
Construct a Rhombus WXYZ whose length of the diagonals WY and XZ are 5.2 cm and 6.4 cm
respectively.

ged—25 SUYdd YA &1 YA dxad gV = arferdsr # & 18 IRl & fog el 991sY
aerm A M gl &1 Sk A — 6

Draw the graph for the following tables of values, with suitable index.

Sl 99 R aiffe art
ST O (F9d #) 1000 2000 3000 4000 5000
ARV AT (B9 ) 80 160 240 320 400

Interest on deposit for a year,
Deposit (IN R) 1000 | 2000 3000 4000 5000
Simple Interest (IN R) | 80 160 240 320 400

(i) T 3Teld o fovg ¥ T[orar & ?
Does the graph passes through the origin.
(i) MMl & IAEIR R WYY 2500 P AP 11 ST DY |
On the basis of graph,Find the interest on Rs 2500 for year.
WYY Ans. —
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1.

g AP U gd gReErr aRkeg, STAWR

(arerreraf, uraayRa® ARl fFmter vd qeaiee wmT)

urRfae Rrer goiar gsmvr—u= odiar 2023
AT 93 9
(Model Question Paper)

PETT/ Class—8
fawa/subject: TIST (science)

I ST SYANT BT 23—
(a1) ®us fomfor # @) T, T T A
() STq A% BT BT F°T 94 | (3) Swrad Tt (

Nylon is used in —

(a) To make clothes (b) To make ropes and tents

(C) To make toothbrushes (d) All of the above

E= & g BT ST FH IS T—

(31) Srotet (@) Fdifea wrasfas

(4) ugr (®) =fag vgiformm A= (

Less polluting fuel for vehicles is —
(a) Diesel (b) Compressed Natural Gas (CNG)
(C) Petrol  (d) Liquid Petroleum Gas (LPG)

A, T ®T fraa™ 2 IR Sarel & 99 &5 BT SYAT SR T,
I8 B8—

(o1) aTET BT dTEY & (3) Sarer H1 e &

() T BT 3RS &= (]) 3T ¥ BI3 TR (

Which part of flame do goldsmiths use to melt Gold and Silver —
(a) Outer zone of flame  (b) Middle zone of the flame

(¢) Inner most zone of flame (d) None of the above

91 oA S T (T) T T (F) faftea Fifog

Write True (T) or False (F) for following statements.

e ofer graeer Fgarar 2| (
Fertilised egg is called zygote.



5. foreiraRen # aw$ # ofg =it 2 ()

Height increases during adolescence.

6. If &MY TR & FqER © AT YHH M TIT A AT TR S A= ARMT| ()1

I you are out of house and an earth quake strikes, you will enter the house.

7. T AUS BR IT IRA—IRT AT T ST dF AT TR =701 == & forg oy
T B3 ? falRau | 2

If fire breaks out around your home then what would you do to control fire? Write
JcX/Ans.—

8. 9Igg = &7 U& IerEvvr fofay | 2

Write an example of external fertilisation.
SIYAns.—

9. 9rey g™ &1 = fIfgu | 2

Write the name of male harmone.
SiY/Ans.—

10. 7 q1gal & o IIThR I ATIRIl Bl IR | 2
Draw a diagram of two clouds showing ions.
JciX/Ans

SR fRA&TeR T gt 7St HiAT



11.9R IRaR &1 T 9T I8 IS0 2| 3AHT o7 98T | 2
Jupiter is the largest planet of the solar system. Draw its diagram.

Ji¥/Ans

12. TSS9 &1 o I8¢ | 4

Draw the diagram of Nitrogen cycle.
JiY/Ans

13.af$At & forg oma g fim &1 5 YR @ 993 @l @9 T 1?7 9)
o7 forfam | 4
What type of clothes you will suggest to your friend to buy for winters? Write four
reasons.

SIY/Ans.—




14,99 RO H USIfera™ & WOed T SUINT 9A1Y TV 2 18T T E—1 &7 W’Iﬁ'

|| e e SR |
T E—1 e ||
%.9. | Ugiferr & ducd ST
1 wd ugiform i | A | Ueq Td dsd Ao
2 SINE B | TREH, A, IRl AT 7
3 Yfte A C |®RI Ud S 9 99 & ©U H
4 fagi D |YNI ey, a8+ 9 fagga wif = & forg
ST B w9 ||

Various constituents of petroleum and their uses are shown in the table given below.

Match group I with group II

Group I Group 11
S.N. | Constituents of petroleum Uses
Liquid Petroleum Gas A Paints. Road surface
(LPG)
2 Diesel B Ointments, Candles, Vaseline etc.
Paraffin wax C Fuel for Heavy Motors
4 Bitumen D Vehicles, electric general
SIYAns.—

15 = for® T I B AT B SER) T I IR IR TR (V) BT e

of |§ C— 1X4=4
Check the correctness of the sentences given below and mark True (T) or False (F).

31) T ¥ 9Nl &% wifad & @ 7| (e / 31<7<)
Rainfall rate is not affected by deforestation. (True /False )

(@) 9= 9ol IRV 98 &5 8 [STEl IR ST R 9 IRfEe vEd 2 | (]I / oRie)



Wildlife sanctuary is an area where wild animals remain safe and protected.

() Hem S, 9 og & e d@n v FeiRa T 3 &9 gk o @

g (e / o)

Endangered animals are those animals whose numbers are diminishing below certain level.
(True /False)

(3) IR—IR SUSTS 1 TR A 99 W © | S TEORTATHRIT HEd &
SRVACR)
Gradually the fertile land gets converted into deserts. It is called desertification.

16 UTSY HITIHI T ST DIRIBT BT ATHIGA 3 KT | 2+2=4

Draw labelled diagram of plant cell and animal cell.

17. ST &1 gRTST 9 I3 ferfag | 242=4

Write the definition and formula of pressure.
SdX/Ans




18 IS MMUHT T el IR T, SIS BIaT B aF IMUS! fFd YR & S

T T BT GINT BT =iy ? ey | 4
Which type of footware will you use if you need to walk/run on smooth surface? Write.
Sd¥/Ans
19 IR 9 T F Ir—ar =R forlav | 2+2=4

Write two differences between noise and music.

JI¥/Ans.—

(i)




(i)

20. TIeId <IuA <eriar gom v uRuer &1 Amifed o a5y | 4

Draw a labelled diagram of simple circuit showing electroplating.

JdY/Ans

21. HA SUUE ¥ & FF YPR @ THGIRAT Tl BRil 2 (B3 ]I SIS
ferfag | 2+2=4

We get multiple types of informations from artificial satellite. Write any two of them.

Sd¥/Ans.—

(i)




(i)

22 31T AU TR A TE BT WUSRY FHT AR 2 39 oY MY Fa—a1
amRar s ? faRag |

You want to store wheat in your house. What preparations will you do for it? Write.

JdY/Ans




37d1/ Or

Stet Riemg St @ & 8 98t ong RieE & s I &1 Swmmr e
=g fafy &1 formr 9980 | 1+5=6

Which method of irrigation will you use in water deficient area? Draw a diagram of method

of irrigation.
Fci¥/Ans—




23 U1 T AT TN B AR TR P IR IR forfay |

12, 412 | 412 | {12
I"+17+17+17°=6

State four differences between metals and non-metals on the basis of their properties.

/S.N.

5 .

€1/ Metals

IYUTJ/Non Metals

34T/ Or




9 AR & BiaH—1H ugref Ry v & | S96 A B i1l | 3P SUANT
ferraT | 6
In the given table, in column I metal names are given. Write the uses of given metals in front of

them in column II

S/ | PIaT¥—1 /Columnl | HIfcdd—II /Column II

S.No. | ggrel/ Metals SUINT/Uses

1 | Mes/Gold

2 | BIYYCopper

3 JTIRA/Iron

4 Th8l/Mercury

24. (31) G =13 B HEAT BT AR o 184 | 442=6
Draw a labelled diagram of human eye.

@) 2fhp gfer A MY TsH GRem Aaefl H A T g guT (faRay |

Which two questions will you ask to the traffic police regarding road safety?
ScX/Ans.—



(i)

(ii)

37I4T/Or

(37) IMYT BT TUT URTI DIV SRTER B 2 139 = &1 Teraar o <

DINTY |

Explain with the help of a diagram that the angle of incidence is equal to angle of reflection.

(4) afe omus TSt BT T 7 TSN T gsdl § RIS IRET B I
SR B A &1 g gur = R |

If your father has to drive in fog, which two questions will you ask him for road safety?

Write.
JI¥/Ans.—

(i)




(i)

25.(37) Y& ST 3R IYE W1 I TgAM DY e | forRay | 4+2=6
How would you recognize drinking water and impure water?
JcX/Ans.—

(3) oo [ae ] A fRaT S oue TR B

Write two of your favorite hygiene habits.
SIYAns.—
(i)




(ii)

3ALdT/ Or
(o1) g ok orgE &aT A AT ofeR 27 ferfay |

Differentiate between pure air and impure air.
Sd¥/Ans.—

(9) TAR STRIUTRT BT ARV G0 R (396 forg & T =1 BT
What will you do to keep your surroundings clean?

SdY/Ans.—



ISR [RA&7eh T gaT, HrST HiAT



